MAT 195 – Spring Quarter 2002

TEST 3 – Answers

NAME_______________________________________________________

Show work and write clearly.

For #1-12, choose only 10 and find y(. Simplify.
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ANS: Use product rule where U = 
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ANS: Use chain rule:  
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ANS: Use chain rule: 
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ANS: Use chain rule:
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ANS: Use implicit differentiation:
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So, 
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Distribute and rearrange to solve for 
[image: image20.wmf]y

¢

:


[image: image21.wmf]2

1

2

1

2

1

2

1

2

1

2

1

)

(

)

(

-

-

-

-

+

+

+

-

-

=

¢

y

x

y

x

y

x

y

x

y


8. 
[image: image22.wmf](

)

2

1

tan

x

y

-

=


ANS: Use chain rule:
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9. 
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ANS: Use ln and implicit differentiation:
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ANS: Use implicit differentiation and product rule:
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ANS: Use chain rule:
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ANS: The derivative of an exponential function [
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Use the chain rule:
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For #13-16, choose only 3 and find y((.
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ANS: Use chain rule:
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Use quotient rule and chain rule:
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ANS: Use product rule and chain rule:


[image: image40.wmf](

)

(

)

(

)

(

)

(

)

x

e

x

e

x

e

x

e

y

x

x

x

x

3

sin

3

3

cos

5

3

3

sin

3

cos

5

5

5

5

5

-

-

-

-

-

-

=

×

-

+

-

=

¢



[image: image41.wmf](

)

(

)

(

)

(

)

(

)

(

)

(

)

x

x

e

x

e

x

e

x

e

x

e

y

x

x

x

x

x

3

sin

30

3

cos

16

3

cos

9

3

sin

15

3

sin

15

3

cos

25

5

5

5

5

5

+

=

-

+

+

=

¢

¢

-

-

-

-

-


15. 
[image: image42.wmf]2

2

2

+

-

-

=

x

x

x

y


ANS: Use quotient rule:
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ANS: Use product rule:
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_1085222256.unknown

_1085222926.unknown

_1085223660.unknown

_1085224123.unknown

_1085224203.unknown

_1085224467.unknown

_1085224715.unknown

_1085224722.unknown

_1085224683.unknown

_1085224359.unknown

_1085224159.unknown

_1085223722.unknown

_1085223841.unknown

_1085223690.unknown

_1085223359.unknown

_1085223479.unknown

_1085223594.unknown

_1085223417.unknown

_1085223072.unknown

_1085223216.unknown

_1085222950.unknown

_1085222630.unknown

_1085222817.unknown

_1085222828.unknown

_1085222698.unknown

_1085222459.unknown

_1085222599.unknown

_1085222368.unknown

_1084160069.unknown

_1085222104.unknown

_1085222178.unknown

_1085222245.unknown

_1085222134.unknown

_1084160278.unknown

_1084160334.unknown

_1084256594.unknown

_1084160389.unknown

_1084160309.unknown

_1084160168.unknown

_1084160187.unknown

_1084160115.unknown

_1084159946.unknown

_1084160015.unknown

_1084160038.unknown

_1084159977.unknown

_1084159898.unknown

_1084159920.unknown

_1084159862.unknown

